

CALCULATIONS OF RESIDUES TASTRAILS COM I. Y. C.P. MARASHARIS COM I. Y. C.P. MARASHARIS COM I. Y. C.P. MARASHARIS COM I. Y. C.P. MARASHA

Question 1

 $f(z) \equiv \frac{\sin z}{z^2}, \ z \in \mathbb{C} \ .$

Find the residue of the pole of f(z).



Question 2

I.C.B.

 $f(z) \equiv \mathrm{e}^{z} \, z^{-5}, \ z \in \mathbb{C} \, .$

Find the residue of the pole of f(z).



5

(2) that a simple pole of 02560 S at the 02661, which is ASY TO Findo Trieferly Rhu hts cadedus explansion

$$\begin{split} & \left\{ (\theta)_{0} = e_{0}^{2} 2^{-4} = -\frac{e_{0}^{2}}{2^{4}} = -\frac{1}{2^{4}} \left[-1 + 2 + \frac{2^{4}}{2^{4}} + \frac{2^{4}}{2^{4}} + \frac{2^{4}}{2^{4}} + \frac{2^{4}}{2^{4}} + \frac{1}{2^{4}} + \frac{1}{2^{4}}$$

THEN LATION IS TO USE THE STANDARD FORMULA FOR FINDING A POLE FORMULA IN , AT $z_{=0}$

$$\begin{split} & \lim_{k \neq 0} \left\{ \begin{split} & \sum_{k \neq 0} \left\{ \left[\frac{1}{2} \left\{ e_{k-1} \right\} - \left[\frac{1}{2} \left\{ \frac{1}{2} \left\{ e_{k-1} \right\} - \left[\frac{1}{2} \left\{ \frac{1}{2} \left\{ e_{k-1} \right\} - \left[\frac{1}{2} \left\{ e_{$$

 $Rts(z_{e0}) = \frac{1}{2t}$ to before the second seco

Question 3

$$f(z) \equiv \frac{z^2 + 2z + 1}{z^2 - 2z + 1}, \ z \in \mathbb{C}$$
.

Find the residue of the pole of f(z).

F	
	A. 4
	1. I.S
	1
	63
г	
L	$_$, $ res(z=1)=4$
Pr-	
FACTOR	PEING THE FUNCTION
Cc.	$Z^2 + 2Z + (Z +)^2$
+(3	$\frac{1}{2^2 - 2^2 + 1} = \frac{(2 - 1)^2}{(2 - 1)^2}$
-t(=) H4	12 = 22-22+1 = (2-1)2 15 A DOUBLE POLE AT Z=1
+(2 +(∞) H4 L144 2→	$\begin{bmatrix} -\frac{1}{2} \begin{bmatrix} 2^{k} - 2^{k} + 1 \end{bmatrix} & \begin{bmatrix} \frac{1}{2} \begin{bmatrix} -\frac{1}{2} \end{bmatrix} \end{bmatrix}$ $= \begin{bmatrix} \frac{1}{2} \begin{bmatrix} 2^{k} - 1 \end{bmatrix} \end{bmatrix}$ $= \begin{bmatrix} \frac{1}{2} \begin{bmatrix} 2^{k} - 1 \end{bmatrix} \end{bmatrix}$
+(≈) H4 <u>+(∞)</u> H4 Luu z→	$\begin{split} &= \frac{1}{2^{k-2R+1}} = \frac{1}{(k-1)^{k}} \\ &= \frac{1}{2^{k-2R+1}} = \frac{1}{(k-1)^{k}} \\ &= \frac{1}{2^{k-1}} \left[\frac{d}{dz} \left[(2n)^{2} \frac{(2n+1)^{k}}{(2n+1)^{k}} \right] \right] \\ &= \frac{1}{2^{k+1}} \left[\frac{d}{dz} \left[(2n)^{k} \right] \right] \\ &= \frac{1}{2^{k+1}} \left[\frac{d}{dz} \left(2n)^{k} \right] \\ \end{split}$
-t(æ) H4 - <u>{(æ)</u> H4 L1w æ→	$\begin{bmatrix} \frac{1}{2} \begin{bmatrix} \frac{1}{2^{k-2}} + 1 \end{bmatrix} = \begin{bmatrix} \frac{1}{2^{k-1}} \end{bmatrix}_{k=1}^{k} \\ \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \end{bmatrix} \end{bmatrix} = \begin{bmatrix} \frac{1}{2^{k+1}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \end{bmatrix} \begin{bmatrix} \frac{1}{2^{k+1}} \end{bmatrix} \\ \frac{1}{2^{k+1}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \end{bmatrix} \end{bmatrix} \end{bmatrix} \\ = \begin{bmatrix} \frac{1}{2^{k+1}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \end{bmatrix} \end{bmatrix} \\ = \begin{bmatrix} \frac{1}{2^{k+1}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \begin{bmatrix} \frac{1}{2^{k}} \end{bmatrix} \end{bmatrix} \end{bmatrix}$
(? <u>{(*)</u> H Liu z→	$\begin{aligned} \frac{1}{2} = \frac{1}{2^{k-2} - 2^{k+1}} = \frac{1}{(k-1)^{k}} \\ \frac{1}{2^{k}} + \frac{1}{2^{k}} + \frac{1}{2^{k}} = \frac{1}{(k-1)^{k}} \left[\frac{1}{2^{k}} \left[\frac{1}{2^{k-1}} \left[\frac{1}{2^{k+1}} \right]^{2} \right] \right] \\ = \frac{1}{2^{k+1}} \left[\frac{1}{2^{k}} \left[\frac{1}{2^{k}} \left[\frac{1}{2^{k-1}} \right]^{2} \frac{(k+1)^{k}}{(k-1)^{k}} \right] \right] \\ = \frac{1}{2^{k+1}} \left[\frac{1}{2^{k}} \left[\frac{1}{$

Question 4

i C.B.

$$f(z) \equiv \frac{2z+1}{z^2 - z - 2}, \ z \in \mathbb{C}$$

Find the residue of each of the two poles of f(z).

,
$$res(z=2)=\frac{5}{3}$$
, $res(z=-1)=\frac{1}{3}$

$$\begin{split} & \underbrace{STR(21 \text{ By First Darken, The Departments}}_{\{\frac{1}{28},\frac{1}{8},\frac{1}{8^{2n}-2},\frac{1}{2}} \approx \frac{22n+1}{(2n+1)(n-2)} \\ & \underbrace{f(\frac{1}{28}) + \underbrace{22n+1}_{\frac{1}{28}-2},\frac{1}{2n},\frac{1}{(2n+1)(n-2)}}_{\frac{1}{28}+1} \\ & \underbrace{f(\frac{1}{28}) + \underbrace{f(\frac{1}{28}) + f(\frac{1}{28})}_{\frac{1}{28}+1},\frac{1}{(2n+1)(n-2)}}_{\frac{1}{28}+1} \\ & = \frac{2(n+1)}{(n-2)} + \frac{-1}{n-3} = \frac{1}{8} \\ & = \frac{2(n+1)}{(2n+1)(n-2)} \\ & = \frac{2(n+1)}{(2n+1$$

Question 5

naths.com

L.C.B. Madasm

COM

I.V.G.B

$$f(z) \equiv \frac{z}{2z^2 - 5z + 2}, \ z \in \mathbb{C}.$$

11₂₀₂₅₁

Find the residue of each of the two poles of f(z).

nadasmans.com

I.G.B.

I.V.G.B.



2/3

11.20281

277

I.G.B.

I.C.B.

COM

Y.G.

6

.

madasma

COM

I.V.C.B. Madasn

Created by T. Madas

COM

Question 6

ĈŖ.

Y.C.B.

 $f(z) \equiv \frac{1 - \mathrm{e}^{\mathrm{i} z}}{z^3}, \ z \in \mathbb{C} \ .$

- a) Find the first four terms in the Laurent expansion of f(z) and hence state the residue of the pole of f(z).
- **b**) Determine the residue of the pole of f(z) by an alternative method

 $res(z=0)=\frac{1}{2}$

FROM CRIMIN THE RESIDUE FOR THE LANCEST EXPRISION $f(\mathbf{z}) = \frac{1 - e^{i\mathbf{z}}}{\mathbf{z}\cdot\mathbf{z}} = \frac{1}{2^3} \begin{bmatrix} 1 - \left[1 + (i\mathbf{z}) + \frac{(i\mathbf{z})^2}{2!} + \frac{(i\mathbf{z})^3}{3!} + \frac{(i\mathbf{z})^4}{4!} + \cdots\right] \end{bmatrix}$ $= \frac{1}{2^2} \left[- \frac{1}{2} \sum_{i=1}^{2} - \frac{1}{2} (i\xi)^2 - \frac{1}{6} (i\xi)^3 - \frac{1}{24} (i\xi)^4 + \cdots \right]$ $= \frac{1}{2^{3}} \left[-i_{z} + \frac{1}{2}z^{2} + \frac{1}{2}i_{z}^{3} - \frac{1}{2^{4}}z^{4} - \cdots \right]$ - 12 WH POLE AT ZEO 14 1/2 $\left\{ \xi_{\text{ES}}\left(f,c\right) = \frac{1}{(b-i)!} \lim_{z \to c} \left[\frac{d}{d^{n+1}} \left[(\xi - c)^n f(\theta) \right] \right] \right\}$ $2e_{s}\left(\frac{1}{2};\circ\right) = \frac{1}{1!} \bigcup_{M \in \mathcal{M}} \left[\frac{d}{d^{2}} \left[\frac{2^{2}}{2} \times \frac{1-e^{iz}}{z^{2}}\right] \right] = \frac{1}{2e_{s}} \frac{1}{2e$ $= \lim_{z \to 0} \left[\frac{d}{dz} \left[\frac{1 - c^2}{z} \right] \right]$ $= \lim_{z \to 0} \left[\frac{\frac{1}{z(-(e^{iz}) - (1 - e^{iz})}{z^2}}{z^2} \right] = \lim_{z \to 0} \left[\frac{-ize^{iz} + e^{iz} - 1}{z^2} \right]$ $= \lim_{\substack{2 \to 0}} \left[\frac{1}{22} + \frac{$ $= \lim_{2 \to 0} \left[\frac{e^{\frac{1}{2}}}{2} \right] = \frac{1}{2}$

C.B.

Question 7

$$f(z) \equiv \frac{z^2 + 4}{z^3 + 2z^2 + 2z}, \ z \in \mathbb{C}$$

Find the residue of each of the three poles of f(z).



Question 8

6

$$f(z) \equiv \frac{\tan 3z}{z^4}, \ z \in \mathbb{C}$$

Find the residue of the pole of f(z).



STAKE WITH THE GRANDICAL OF tom?	
3(3) = turz	a=
g(28) = 5622 = 1+ trupz = 1+ g2	d
g(z) = 2gg	86 -
0 (2) 24/1124-4	

- 8 (2) = 29 y + 299 "
- $\Rightarrow \tan\{2 = 2 + \frac{1}{3!}2^2 + O(2^3)$ $\Rightarrow \tan\{2 = 2 + \frac{1}{3!}2^3 + O(2^3)$
- $\Rightarrow \frac{1}{24} \frac{1}{1002} = \frac{1}{24} \left[\frac{32}{32} + \frac{92^3}{1002} + \frac{1}{1000} + \frac{1}{1000} \right]$
- $\implies f(s) = \frac{3}{3} + \left(\frac{3}{5}\right) + C(s)$
 - .: EHILDUE OF THE TEAPLE AND AT THE ORIGIN IS 9

Question 9

$$f(z) \equiv \frac{z^2 - 2z}{\left(z^2 + 4\right)\left(z + 1\right)^2}, \ z \in \mathbb{C}$$

Find the residue of each of the three poles of f(z).



Find the residue of the pole of f(z), at the origin.

res(z=0)=1

$$\begin{split} f_{1}^{1}(z) &= \frac{l}{e^{2n}-1} = -\frac{l}{(+2+\frac{2n}{21}+\frac{2n}{31}+\dots-1)} = -\frac{l}{2+\frac{2n}{21}+\frac{2n}{31}+\dots} \\ &= \frac{l}{2e^{l}_{1}(+\frac{2n}{31}+e^{l}(z))} = -\frac{l}{2e^{l}_{1}(+\frac{1}{22}+e^{l}(z))}^{-1} \\ &= \frac{l}{2e^{l}_{1}(-\frac{1}{22}+e^{l}(z^{2}))} = -\frac{l}{2e^{l}_{1}(+\frac{1}{22}+e^{l}(z))}^{-1} \\ &= \frac{l}{2e^{l}_{1}(-\frac{1}{22}+e^{l}(z^{2}))} = -\frac{l}{2e^{l}_{1}(+\frac{1}{22}+e^{l}(z))} \\ &\stackrel{<}{\sim} lecance \quad l \end{split}$$

Question 11

I.V.G.B. May

1.4.0.9

277

$$f(z) \equiv \frac{z}{(3z^2 - 10iz - 3)^2}, z \in \mathbb{C}.$$

Find the residue of each of the two poles of f(z).

.Y.G.B.



23

COM

.G.D.

· Cas

.

2010

madasn

I.F.G.B.

Created by T. Madas

00

N.C.

Question 12

nana,

nn

2017

I.V.G.B

23

0

 $f(z) \equiv \frac{\cot z \, \coth z}{3}, \ z \in \mathbb{C}.$

Inadasn

Find the residue of the pole of f(z) at z = 0.

.V.G.B.



The Com

ths.col

I.G.S.

14

.

23

The,

2010

Created by T. Madas

2017

K.C.

Question 13

$$f(z) \equiv \frac{z^6 + 1}{2z^5 - 5z^4 + 2z^3}, \ z \in \mathbb{C}$$

5

Find the residue of each of the three poles of f(z).



Question 14

1. C.B. 111.20/25

I.V.G.B.

 $f(z) \equiv \frac{4}{z^2(1-2i)+6zi-(1+2i)}, z \in \mathbb{C}.$

Find the residue of each of the two poles of f(z).

I.F.G.p.

Mada,

 $res\left(z=\frac{1}{5}(2-i)\right)=-i$ |res(z=2-i)=i|, $f(z) = \frac{4}{z^2 c_{1-2}(1) + 6(z - (1+21))}$ $\begin{array}{l} & & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & \\ & & & \\ & & \\ & & & \\ \end{array} \right) = \begin{array}{c} & & & -61 \pm \sqrt{3}(4+655^2) \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ \end{array} \right) = \begin{array}{c} & & -61 \pm \sqrt{3}(4+655^2) \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ \end{array} \right) = \begin{array}{c} & -61 \pm \sqrt{3}(4+655^2) \\ & & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ &$ $=\frac{-6i\pm41}{2\zeta(-2i)}=\frac{(-3\pm2i)}{i-3i}= < \underbrace{-\frac{1}{1-3i}}_{i-3i}= \frac{-1(i+2i)}{i+4}=\frac{1}{4}(2-i)$ file) this surple poiled for z= 2-i a fr(2-i)

N.C.S.

-1-

.

2017

Mada

I.F.C.B.

- $\begin{array}{l} = & \left\lfloor \log_{1} \left(-\frac{4}{2R(j-21)+61} \right) = -\frac{4}{2(2r+1)(-21)+61} = -\frac{2}{(2r+1)(-21)+61} \\ = & \frac{2}{2r+\frac{4}{2}(r-1-2+8)} = -\frac{2}{3r+\frac{4}{2}} = -\frac{4}{2} = -\frac{4}{2} \end{array}$
- $\lim_{\mathbb{R} \to \frac{1}{2} \subseteq \mathcal{L}} \left[\left[\mathbb{R} \frac{1}{2} \mathbb{Q}^{-\frac{1}{2}} \right] \times \frac{4}{\mathbb{R}^{2} (1 2\ell) + \mathcal{L}(2 \ell) + \mathcal{L}(2 \ell)} \right] = \frac{\nabla}{\nabla} = -\frac{1}{\nabla} \mathcal{L} + \frac{1}{2} \mathbb{R}^{2} \mathbb{R}^{2}$
- $= \bigcup_{\substack{2 \to \frac{1}{2}(0-1)}} \left[\frac{4}{2\mathbb{E}(1-2t) + Ct} \right] = \frac{4}{2\mathbb{E}(1-2t)(1-2t) + Ct} = \frac{10}{(24)(1-2t) + Ct}$
- $=\frac{10}{2^{-\frac{1}{2}(1-\frac{1}{2}\sqrt{10})}}=\frac{10}{10}=\frac{1}{1}=-1$

Created by T. Madas

2017

N.C.

Question 15

I.F.G.B.

aths

I.V.G.p

 $f(z) \equiv \frac{z e^{kz}}{z^4 + 1}, \ z \in \mathbb{C}, \ k \in \mathbb{R}, \ k > 0.$

The Com

proof

I.F.G.B.

.G.D.

1.4

17202

Show that the sum of the residues of the four poles of f(z), is

 $\sin\left(\frac{k}{\sqrt{2}}\right)\sinh\left(\frac{k}{\sqrt{2}}\right)$



Created by T. Madas

I.C.

A LAURENT SERIES TASTRAILS COM I. Y. C.P. MARASHARIS COM I. Y. C.P. MARASHARIS COM I. Y. C.P. MARASHARIS COM I. Y. C.P. MARASHA

Question 1

Determine a Laurent series for



Question 2

0

Determine a Laurent series for

$$f(z) = \frac{e^{2z}}{\left(z-1\right)^3},$$

COM

1:0.

6

about its singularity, and hence state the residue of f(z) about its singularity.



Question 3

Determine a Laurent series for

I.F.G.B.

I.C.B.

$$f(z) = (z+2)\sin\left(\frac{1}{z-2}\right),$$

about z = 2.

I.V.C.B. Madasm

Smaths.com

I.V.G.B.

>

2014

2

$$f(z) = \dots + \frac{4}{5!(z-2)^5} + \frac{1}{5!(z-2)^4} - \frac{4}{3!(z-2)^3} - \frac{1}{3!(z-2)^2} + \frac{4}{z-2} + 1$$

 $\left(\left(\Xi \right) = \left(\Xi + 2 \right) SM \left(\frac{1}{\Xi - 2} \right)$ (Cw) = (W+4) Sin(fr)sing the ant standard expansion naths.col

Y.G.S.

1.6

.

11303SI1131

naths.com

I.G.B.

W=2-2 Z=W+2 Z+2=W+4

madasmaths.com

I.V.C.B. Madasn

 $(\mathcal{W}) = (\mathcal{W} + \mathcal{Q}) \left[\frac{1}{\mathcal{W}} - \frac{1}{3!\mathcal{W}^2} + \frac{1}{3!\mathcal{W}^2} - \frac{1}{7!\mathcal{W}^2} \right]$ $1 \quad - \quad \frac{3}{3!} \frac{1}{m_F} + \quad \frac{1}{2!} \frac{1}{m_F} \quad - \quad \frac{1}{2!} \frac{1}{m_F} + \cdots$ $\frac{4}{w} - \frac{4}{31w^3} + \frac{4}{51w^5}$ WRITE IN ORDER

 $f(w) = 1 + \frac{\mu}{w} - \frac{1}{3!w^2} - \frac{\mu}{3!w^3} + \frac{1}{5!w^4} + \frac{\mu}{5!w^4} - \frac{1}{3!w^4} - \frac{1}{5!w^4} + \frac{1}{5!w^4} - \frac{1}{5!w^4} - \frac{1}{5!w^4} - \frac{1}{5!w^4} + \frac{1}{5!w^4} - \frac{1}{5!$

A SUBSTITUTION

 $-\frac{1}{2}(m) = \frac{1}{2}m^2 + \frac{1}{2}m^2 - \frac{1}{2}m^2$

-f(z) = $f(z) = -\frac{1}{\sqrt{30}} + \frac{1}{\sqrt{30}}$ ŀ.G.p.

Created by T. Madas

COM

madasmans.com

Question 4

I.C.B. Madas

I.F.G.B.

Determine a Laurent series for

$$f(z) = \frac{1}{z^2 - 1},$$

which is valid in the punctured disc 0 < |z-1| < 2.



I.F.G.B.

COM

3

5

/

Madasn

Created by T. Madas

2017

R.

Question 5

2

Smaths.com

I.F.G.B.

Determine a Laurent series for

 $f(z) = \frac{1}{z+4},$

11₂₀₂₁

which is valid for |z| > 4.

nadasmaths.com

I.C.B.

I.Y.C.B.

I.Y.C.B. Madasman



naths.col

I.G.S.

6

-

11202SM211

naths.com

POLATE THE FUNCTION AS FURDERS $f(z) = \frac{1}{z+\psi} = \frac{1}{z(1+\frac{\psi}{z})} = \frac{1}{z(1+\frac{\psi}{z})}$

1 4 | <1 121>4

I.C.B.

nadasmarias com

Madasmaths.com

I.V.C.B. Madasn

Question 6

Smaths.com

I.V.C.P

6

Determine a Laurent series for

$$f(z) = \frac{5z+3i}{z(z+i)},$$

ths.com

ne,

I.F.G.B.

COM

Madasn

27

4.65

6

.

which is valid in the annulus 1 < |z - i| < 2.



Created by T. Madas

COM

N.C.

Question 7

Determine a Laurent series for

$$f(z) = \frac{1}{(z-1)(z+2)},$$

which is valid in ...

- **a**) ... the annulus 1 < |z-2| < 4.
- **b**) ... in the region for which |z-2| > 4.

$$= \frac{1}{3} \sum_{r=1}^{\infty} \left[(-1)^{r+1} (z-2)^{-r} \right] - \frac{1}{12} \sum_{r=0}^{\infty} \left[(-1)^r \left(\frac{z-2}{4} \right)^r \right]$$

$$f(z) = \sum_{r=0}^{\infty} \frac{(-1)^r - (-4)^r}{3(z-2)^{r+1}}$$

nadasn.

I.G.B.

6	$ \begin{array}{c} \left\{ (2) = \frac{1}{(2+)(2-i)} = \frac{1}{2-i} - \frac{1}{22} \right\} \\ \hline F & tre (block + GANEK + K = 2,7H^{-1}) \\ = \frac{1}{2-i} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} \right\} & (-n) & 2ic & (n-2i)(1) \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} \right\} \\ \hline \left\{ \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} - \frac{1}{2-i} -$	$ \begin{split} & \left\{ (s) = \frac{2}{7} \sum_{i=1}^{M} \left\{ (i_{i}_{i}) \left(c_{i}_{i}_{i} \right)_{i}_{i} - \frac{1}{7} \sum_{i=1}^{N} \left(c_{i}_{i}_{i} \right) \left(c_{i}_{i}_{i}_{i}_{i}_{i}_{i}_{i}_{i}_{i}$	$\begin{split} & \underbrace{\operatorname{CORRING}}_{C} & \underbrace{\operatorname{He}}_{C} \underbrace{\operatorname{Eq}}_{C}(z) \\ & \underbrace{\operatorname{He}}_{C} \underbrace{\operatorname{He}}_{C}(z) \\ & \underbrace{\operatorname{He}}_{C} \underbrace{\operatorname{He}}_{C} \underbrace{\operatorname{He}}_{C}(z) \\ & \underbrace{\operatorname{He}}_{C} \underbrace{\operatorname{He}}_{C$	
na.	$\begin{split} & \begin{bmatrix} 2\pi \frac{1}{4} (2x) \frac{1}{2x} & \text{Offmando } \overline{x}_{0} & 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 > 2 < x & \text{of } 1 < 1 < x & \text{of } 1 < 1 < x & \text{of } 1 < 1 < x & \text{of } 1 & \text{of } 1 < 1 < x & \text{of } 1 & $	(a) $\sum_{k=1\\k=1\\k=1\\k=1\\k=1\\k=1\\k=1\\k=1\\k=1\\k=1\\$	$\frac{f(g)}{g(g)} \approx \sum_{k=1}^{\infty} \frac{f(g)}{2g(g)} e^{-\frac{1}{2}g(g)} e^{-\frac{1}{2}g$	202
	- 志[+ 志] - 志- 志+ 志- 志+ -:] - 志- 志- 志- 志-	$\frac{ z_{2} <1 \Rightarrow z_{2} >1}{\sum_{i=1}^{2} z_{1} ^{2} + z_{2} >1}$ The NORE Density, it $\frac{1}{ z_{2} >2} - z_{2} ^{2} + z_{2} ^{2} + z_{2} >2$ $= \frac{1}{2} - z_{2} ^{2} + z_{2} ^{2} +$		Con.
I.		9 I.F.	, I.J. G.B	
	. Mad.	Created by T. Madas	Made	120

VARIA PROBLEM. INC. HARACHINESCON INTERNA INTERNESCON INTERNESCON INTERNESCON INTERNESCON INTERNESCON INTERN

Question 1

The complex number $z = c + a\cos\theta + ib\sin\theta$, $0 \le \theta < 2\pi$, traces a closed contour C, where a, b and c are positive real numbers with a > c.

By considering

